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@O (x+3)*=9 DO(x+4)(x—9)=0 D2x2—4x=0
@ (x—8)2—16=0 @((x—6)(x+3)=0 @x2+T7x=0
@(x+4)2=10 @(x+5)(x—1)=0 @3x2+x=0
@(x—1)2—24=0 @(x—8)(x+2)=0 @8x*—6x=0
®((x+6)2—18=0 ®x+7)(x—10)=0 ®6x2—4x=0
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@ (x+9)2—25=0

®(x—5)2—50=0

@ (x+7)2—20=0
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@ (x+8)2—32=0

@(x—3)2—49=0
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@(x—4)2—81=0

B (x+2)*="172

® x(x+3)=0

@ x(x—9)=0
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@ 6x(x—2)=0
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@(2x+8)(6x—9)=0

@ (8—5x)(9x—1)=0

@ (4x—2)(8—6x)=0

B(5x—7)(83—2x)=0

©x*—14x+49=0

Mx*+4x—45=0

®x*+7x—30=0

@x24+2x+1=0

104x>—20x+25=0

1—16x+64x*>=0

1281 —36x+4x?2=0

325x2—16=0

@9x2—1=0

Bx2—49=0




